7.2 WARM-UP: put at top of today’s assignment
Simplify. (No decimals.)
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7.2 WARM-UP: put at top of today’s assignment

Rationalize each denominator.
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7.2 WARM-UP: put at top of today’s assignment

h. Is sin(x +y) = sinx + smy?
%0 L0

S‘VL(W*’GOW —~ 5N +4ines
5in(40) = S 4 iz

bo~_ L




Notes 7.2: put on bright yellow sheet
Sum and Ditference Identities:

sin(x=+y)=simnx-cosy + cosx-siny
cos(xty)=cosx-cosy F sinx-siny

tanx=tan y
1F tanxtan y

Notes: for CSC, SEC, COT
-> find sin, cos, tan and then flip to find reciprocal

Just use the symbols from the top row highlighted in blue OR the bottom
row highlighted in yellow based on the operation in each given problem.

tan(x+y)=



Notes 7.2: put on bright yellow sheet
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Notes 7.2: put on bright yellow sheet
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Find the exact value:

sin(¥£y)=sinx-cos y® cosx-siny

3 . Sl N 750 Just use the symbols from the top row highlighted in
blue since you have addition in the given problem.
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Write as a function of one number, then find
Its exact value. \
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Prove the identity. Same as verify!
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cos(x+y)=cosx-cosy F sinx-sin y
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v'CHECK EVEN ANSWERS for 7.2
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